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QUESTION 1

You are asked to convert the number 7 from decimal to binary.
Which number is correct in this scenario?

A. 00010000

B. 11100000

C. 00000111

D. 00001000

Correct Answer: C

QUESTION 2

What is the maximum number of rollback configuration files that the Junos OS will store?
A.25

B. 65

C.50

D. 19

Correct Answer: C

QUESTION 3

Which TWO of the following are private IP addresses?
A.12.0.0.1

B. 168.172.19.39

C. 172.20.14.36

D. 172.33.194.30

E. 192.168.24.43

Correct Answer: C

QUESTION 4

What are two examples of exception traffic? (Choose two.)



A. ping to the local device
B. log messages

C. transit packets

D. routing updates

Correct Answer: AB

QUESTION 5

A packet enters a Junos device. No matching destination entry exists in the forwarding table. How will the device
respond?

A. The RE responds to the source with a destination unreachable notification message
B. The PFE responds to the destination with a source unreachable notification message
C. The PFE responds to the source with a destination unreachable notification message
D. The RE responds to the destination with a source unreachable notification message

Correct Answer: B

QUESTION 6

Which Junos OS component is responsible for maintaining the forwarding table?
A. Packet Forwarding Engine

B. chassis control daemon

C. Routing Engine

D. management daemon

Correct Answer: C

QUESTION 7

What are three firewall filter terminating actions? (Choose three.)
A. discard

B. reject

C. log

D. accept



E. drop

Correct Answer: ABE

QUESTION 8

Click the Exhibit button What is the next-hop interface for traffic destined to 172.19.52.101 as shown in the exhibit?
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A. ge-0/0/3.0
B. ge-0/0/0.0
C. ge-0/0/2.0
D. ge-0/0/1.0

Correct Answer: D

QUESTION 9

Which two components are included in a transport header? (Choose two.)
A. source port number

B. source MAC address

C. destination MAC address

D. destination port number

Correct Answer: AD

QUESTION 10

You received a new Junos device and are configuring the system-related settings. You must configure this device for
the current date and time on the US West coast. You have set the time zone to America/Los_Angeles, however the time



and date did not change.

In this scenario, which two additional actions would satisfy this requirement? (Choose two.)
A. Configure an NTP server.

B. Set the date and time setting manually.

C. Reboot the device.

D. Configure a DNS server.

Correct Answer: AB

QUESTION 11

How many rescue configuration files are supported on a Junos device?
A3

B.1

C.50

D. 49

Correct Answer: B

QUESTION 12

What are two benefits when implementing class of service? (Choose two.)
A. Traffic congestion will be eliminated.

B. Traffic congestion can be managed.

C. The network will be faster.

D. Latency-sensitive traffic can be prioritized.

Correct Answer: BD
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